\WALTRA

ENGINE BED AND FRONT MOTORSTUTZE UND

71-01

SUPPORT MOTEUR ET
PARTIE AVANT

KEHTO JA ETUKAPPALE FRONTSTYCKE

VORDERSTUCK

PART

1.7.2005

A75n, A85n, A95n,

AT5L, A85L, A95L




\WALTRA

71-03

VALIRUNKO,

RESERVOIR DE

PATI CENTRAL,
CARBURANT

CENTER FRAME, FUEL ~ ZWISCHENRAHMEN,

MELLANSTOMME,
BRANSLETANK

POLTTOAINESAILIO

KRAFTSTOFFTANK

TANK

1.7.2005

A75n, A85n, A95n,

AT5L, A85L, A95L







WA LT RA

TAKAPYORAT BAKHJUL REAR WHEELS HINTERRAD ROUES ARRIERE 72-05

1.7.2005
A75n, A85n, A95n,
AT75L, A85L, A95L




\W/ALTRA

LISAPAINOT TILLAGGSVIKTER (EXTRA BALLAST WEIGHTS EXTRAGEWICHTE MASSES 79-01
(LISAVARUSTE) UTRUSTNING) (OPTIONAL EQUIPMENT)  (EXTRAZUBEHOR) D'ALOURDISSEMENT
(EQUIPEMENT OPTIONNE) 1.7.2005

A75n, A85n, A95n,
AT75L, A85L, A95L

7

o 9
B




WA LT RA

LISAPAINOT
(LISAVARUSTE)

TILLAGGSVIKTER (EXTRA BALLAST WEIGHTS
(OPTIONAL EQUIPMENT)

EXTRAGEWICHTE

UTRUSTNING) (EXTRAZUBEHOR)

MASSES 79-03
D'ALOURDISSEMENT
(EQUIPEMENT OPTIONNE) 1.7.2005
A75n, A85n, A95n,
AT75L, A85L, A95L

33131400 (3)

HA8366(M16x180)
HA8726(M16x240)

33131500 ( 8)

HA8367(M16x200)
HA8727(M16x280)




\W/ALTRA

LISAPOLTTOAINE-SAILI® EXTRA BRANSLETANK  EXTRA FUEL TANK ZUSATZKRAFTSTOFFTAN RESERVOIR DE 79-05
(LISAVARUSTE) (EXTRAUTRUSTNING)  (OPTIONAL EQUIPMENT) K (EXTRAZUBEHOR) CARBURANT

SUPPLEMENTAIRE 1.7.2005

(EQUIP. OPT) AT75n, A85n, A95n,

AT5L, A85L, A95L




[<J
5 0
> O
<<
=g
5 0
Q0
<< <
=gy
6 O
~ ~
< <




\WALTRA

79-09

MUD SHIELDS (OPTIONAL SCHLAMMSCHUTZE PROTECTIONS DE LA

GYTTJESKYDD (EXTRA

UTRUSTNING)

MUTASUOJAT

(EXTRAZUBEHOR)

(LISAVARUSTE)

BOURBE (EQUIPEMENT

OPTIONNEL)

EQUIPMENT)

1.7.2005

A75n, A85n, A95n,

AT5L, A85L, A95L

o O




79-11

1.7.2005
A75n, A85n, A95n




